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Porky. Inc. started the year with 590,000 i direct materials inventory. During the year, Porky has purchased $535.000 in direct materials, and used $500,000 in materils for
production. The direct materials inventory at the end of the year i
© $35,000
© $125,000
© $90,000
© $535,000
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fFthe contribution margin ratio is 0.30, target net income is $76,800, and target sales volume is 5480,000, then the total fixed costs are
© $23,000
© $44,160
© $67.200
© 5259200
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[image: image3.png]Dakota Corporation has been producing and selling 42,000 hats a year. The Dakota Corporation has the capacity to produce 52,000 hats with its present facil

[Seling price per unit 530
[Variable costs per unit
Manufacturing 513
Selling and Administrative 57]
[Fixed costs in total
Manufacturing 5128000
Selling and Administrative 540,000

‘The following information is also available:
increase by $10,000

increase by $120.000

increase by $50,000

) decrease by $50,000

I special order is accepted for 10,000 hats at a special price of $25 per unit, net income would
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Haggle Corporation, a wholesaler. sells computers and has a sales budget for next month of $300,000. Cost of units sold is expected to be 40% of sales. All units that are purchased
in a calendar month are paid for in the calendar month following purchase. The budgeted beginning inventory of units for the next month is $10,000, and the budgeted ending inventory
of computers equals $12.000. The budgeted beginning accounts payable for the next month is $76,000.The budgted ending balance in accounts payable for next month will be

© $122.000

© $120,000

© $118.000

© $78.000
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[image: image5.png]Lakers Company manufactures a part for its production cycle. The costs per unit for 5,000 units of this part are as follows:

Direct materials $3
Direct labor 5
Variable factory overhead s
Fixed factory overhead 52
Total costs s14

The fixed factory overhead costs are unavoidable.
Assume that Lakers Company has been offered 5,000 units of the part from another producer for $14 each. The facilities currently used could be used to make 5,000 units of
a product that would contribute $5 a unit to cover fixed expenses. No additional fixed costs would be incurred. Lakers Company should .

©® make the new product and buy the part to eam an extra §3 per unit contribution to profit

© make the new product and buy the part to eam an extra §1 per unit contribution to profit

© continue to make the part to eam an extra §1 per unit contribution to profit

© continue to make the part to eam an extra 3 per unit contribution to profit
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FFthe flexible-budget variance was 56,000 favorable, and the sales-activty variance was §3.000 favorable, the total master-budget variance was
© 59,000 favorable
© $9,000 unfavorable
© $3,000 favorable
© $3,000 unfavorable
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[image: image7.png]Diamond Corporation has the following sales budget for the last six months of 20X0:

July 100,000 October 590,000
August 580,000 November  §100,000
September 510,000 December 594,000

Historically, the cash collection of sales has been as follows.
65% of sales collected in month of sale

25% of sales collected in month following sale

8% of sales collected in second month following sale

2% of sales are uncollectible

is the expected cash collection in October.
© $58,500
© $92400
© 599500
© None ofthese answers is correct




9.[image: image8.png]‘The following information pertains to Mary Company:

Total assets 550,000
Total curent liabiies 30,000
Total expenses 560,000
Total liabilties 535,000
Total revenues 580,000

Irinvested capital is defined s total assets, and the imputed interest rate is 10%, the residual income is
© $4.000
© $15.000
© $20,000
© $1600
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Freedom Corporation has three departments. Data for the most recent year is presented below:

X Y z
Sales $400  $200 580
Variable expenses 128 552 534
Fixed expenses

Unavoidable 5% 552 512
Avoidable s116 S04 54
Required:

2. Compute the operating income of the company. (2 pts)
b. Compute the contribution margin and operating income of each department_(3pts)
. Should any department(s) be eliminated? If so. which one(s) and why?(2pts)
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Freedom Corporation has three departments. Data for the most recent year is presented below:

X Y z
Sales $400  $200 580
Variable expenses 128 552 534
Fixed expenses

Unavoidable 5% 552 512
Avoidable s116 S04 54
Required:

2. Compute the operating income of the company. (2 pts)
b. Compute the contribution margin and operating income of each department_(3pts)
. Should any department(s) be eliminated? If so. which one(s) and why?(2pts)
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[image: image11.png]Diamond Corporation has the following sales budget for the last six months of 20X0:

July 100,000 October 590,000
August 580,000 November  §100,000
September 510,000 December 594,000

Historically, the cash collection of sales has been as follows.
65% of sales collected in month of sale

25% of sales collected in month following sale

8% of sales collected in second month following sale

2% of sales are uncollectible

is the expected cash collection in October.
© $58,500
© $92400
© 599500
© None ofthese answers is correct
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Freedom Corporation has three departments. Data for the most recent year is presented below:

X Y z
Sales $400  $200 580
Variable expenses 128 552 534
Fixed expenses

Unavoidable 5% 552 512
Avoidable s116 S04 54
Required:

2. Compute the operating income of the company. (2 pts)
b. Compute the contribution margin and operating income of each department_(3pts)
. Should any department(s) be eliminated? If so. which one(s) and why?(2pts)
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Lee Company has met al production requirements for the current month and has an opportunity to manufacture addtional units with its excess capacity. Unit selling prices and unit
costs for three product lines follow

Plain | Regular | Super
Selling price S40] 865 | s65
Direct material 12 6] 2
Direct labor (@520 per hour | 10 5] 20
Variable overhead 5 2] 16
Fixed overhead 5 7 5

Variable overhead is applied on the basis of direct labor dollars, whereas fixed overhead is applied on the basis of machine hours. There is sufficient demand for the
additional manufacture of all products.

Required

A ffLee Company has excess machine capacity and can add more labor as needed (ie.. neither machine capacity nor labor is a constraint). which product is the most attractive to
produce? (3 pts)

B If Lee Company has excess machine capacity but a limited amount of labor time available, which product or products should be manufactured in the excess capacity? (3 pts)




15.

[image: image14.png]section Il

Once upon a time, two brothers (Barry and Larry) dreamt about owning and operating companies in the same line of business. Barry believed in maintaining a very large,
highly efficient manual labor force; Larry, on the other hand, favored automated-production processes. One business was located in Madison and the other was located in
Austin. Recent data follow.

Madison | Austin

Sales 52,000,000 | 52,000,000
Contribution margin |_1.700.000 | 400.000
Net income $150,000 | 150,000

Required:

A Which f the two businesses, Madison or Austn, has th hghest leve of (1) variable costand (2) highest levloffixed cost? Explain how you determined your answer. (156 pis)
B. Determine the probable owner of the firm located in (1) Madison and (2) Austin. Briefly explain your logic. (1.5 pts)

C. Compute the operating leverage factor for Madison and Austin (2 pts)

D. Suppose that both Madison and Austin had the opportunity to increase sales by 10%. Which of the two locations would experience a larger percentage change in net income?
‘Why? (1 pts)
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[image: image15.png]Homestead Corporation sells a line of power tools to home improvement chains, generating a cost of goods sold equal to 70% of net sales. The selected data that follow relate to the
period just ended for the company's three largest customers: Weekend Project, Tool Mart, and Fix-It City

Weekend project Tool Mart Fixit City
Gross Sales volume:

Dollars 52,000,000 54,900,000 54,600,000
Number of orders 50 175 125

Type of order
Regular 0 135 10
Rush 10 40 15

Sales retums
Dollars $100.000 5400000 5240000
Number of retums 3 20 5
Total customer related costs 5245100 5918.000 $457 800

Homestead's management recently attended a seminar and leamed that customers with excessive requests and demands can have a significant, negative impact on corporate
proftability.

Required
A For each of the three chains, comptte:

1. Total customer-elated costs as a percentage of gross margin. (1.5 pts)

2. The average order size (ignoring sales retums). (15 pts)

3. The ratio of regular orders to rush orders. (1.5 pts)

4. The number of sales retums as a percentage of the number of total orders. (1.5 pts)

B. Prepare a brief summary of your findings. Should Homestead work with any of the chains in an effort to improve results? Explain (2 pts)
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Lee company has met all production requirements for the month and has an opportunity to manufacture additional units with its excess capacity. Unit prices and costs for the product lines are below.




Plain  Regular     Super

Selling price

$40
$55
$65

Direct Material

12
16
22

Direct labor @$20/hr
10
15
20

Variable Overhead
8
12
16

Fixed overhead 

6
7
8


Variable overhead applied on the basis of labor dollars, whereas fixed overhead is applied on the baisis of machine hours. There is sufficient demand for the additional manufacture of all products.

Required:

a. If Lee company has excess capacity and can add more labor as needed (i.e neither machine labor s a constraint).. which productis the most attractive produce

b. If Lee company has excess machine but a limited amount of labor time available,which product or products should be manufactured in excess capacity.

